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Density Practice Problems
1. What's the density of an object that has a mass of 75.4g and a volume of 5.24cm3?
2. A sample of nickel has a mass of 1.02g and a volume of 1.35cm3, what is the density of the nickel?
3. An object has a mass of 1.2g and a volume of 1.1cm3, what is its density?
4. What is the mass of a material when the density is 1.1 g/ cm3 and the volume is 18.6cm3?


5. If a material has a density of 6.75 g/cm3 and a volume of 11.5cm3, what is its mass?
6. If a sample that has a volume of 5.25cm3 and a density of 18.55g/ cm3 what would it’s mass be?


7. What is the volume of a substance that has a mass of 54.2g and a density of 17.7g/cm3?


8. What is the volume of a substance that has a mass of 87.6g and a density of 10.83 g/cm3?


9. What is the volume of a substance if its mass is 36.7g and its density of 23.4 g/cm3?

10. What is the density of a material if its mass 2.02g and its volume is .500cm3?


11. What is the density of a substance when its volume is 51.6cm3 and its mass is 134.5g?

12. What is the density of a sample if its mass is 44.3g and its volume is 22.1cm3?


13. A piece of metal has a mass of 32.4g and has a volume of 24.9cm3, what's its density?


14. A sample has a volume of 10.2cm3 and a mass of 15.6g. What is the density of the gold?


15. A substance has a mass of 61.9g and its volume is 5.46cm3, what is this density? 

16. The density of aluminum is 2.70 g/cm3. If the mass of a piece of aluminum is 244 grams, what is the volume of the aluminum?

17. The density of silver (Ag) is 10.5 g/cm3.  Find the mass of Ag that occupies 965 cm3 of space.

18. A 2750 g sample of a substance occupies a volume of 250.0 cm3.  Find its density in g/cm3.

19. Find the volume that 35.2 g of carbon tetrachloride (CCl4) will occupy if it has a density of 1.60 g/cm3.

20. The density of ethanol is 0.789 g/cm3 at 20oC.  Find the mass of a sample of ethanol that has a volume of 150.0 cm3 at this temperature.

21. 30.0 g of each of the following acids are needed.  Find the volume of each that must be measured out in a graduated cylinder.  

A. hydrochloric acid (HCl), density = 1.164 g/ cm3
B. sulfuric acid (H2SO4), density = 1.834 g/ cm3
C. nitric acid (HNO3), density = 1.251 g/ cm3
22. A piece of wood that has a volume of 72 cm3 has a mass of 80.0 grams. What is the density of the wood? Would the piece of wood float in water? 

23. A rectangular block of lead (Pb) volume measures 27000 cm3.  If the density of lead is 11.34 g/cm3, calculate the mass of the block.

24. A cube of gold (Au) has a volume of 3.72 cm3.  If the sample is found to have a mass of 71.9 g, find the density of gold.
25. I threw a plastic ball in the pool for my dog to fetch. The mass of the ball was 125 grams. What must the volume be to have a density of 0.500 g/cm3.
26. An ice cube with a volume of 195.1 cm3 has a density of 0.917 g/cm3.  What is the mass?

27. Gasoline is a non-polar liquid that will float on water. Yesterday 450 grams of gasoline was spilled into a puddle of water. If the density of gasoline is 0.665 g/cm3, what volume of gasoline is spilled?

28. Alicia has a pure gold coin (density of 19.3 g/cm3) that has a mass of 120.24 g. What is the volume of the coin?


29. The largest meteorite on Earth has a density of 8 g/cm3 and a volume of 7,500,000 cm3.  What is its mass?

30. Magnesium is a light metal that has a density of 1.74 g/cm3.  If the magnesium has a mass of 9.56g, what is the volume?

31. The largest emerald known has a mass of 17,230 g and a volume of 4,290 cm3.  What is it’s density?

32. The volume of a liquid that fills a flask is 750 cm3.  The mass of the liquid is 525g.  Which of the following liquids is it water (density – 1.0g/cm3), gasoline (density – 0.70 g/cm3), or ethanol (density – 0.79 g/cm3)?

33. Two beakers are filled with samples of water.  One beaker is filled with seawater that has a density of 1.03 g/cm3 and a mass of 5000 g.  The other beaker is filled with freshwater with a density of 1.0 g/cm3 and a mass of 5000g.  Which beaker is filled more and what is the difference in the volumes?
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